L a>3dd, /(=307 - /(a-3)? & 3] 5hel?

@O -4a-3 @ -4a+3 ® -2a+3
@ 2a-3 @2a—|—3

VR - la=37 = 3a- (a-3) = 2a+3
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4. (2x-12+0Bx-2)(3x+2) = ax®+bx+c L W, a+b+c2 27

® 3 @ 4 @5 @ ® 7

~&B

(2x-1)> 4+ (3x—2) 3x + 2)
=4x> —4dx+1+9x%2 -4
=13x>-4x-3
=ax®+bx+c

a=13, b=-4, c=-3
“a+b+c=13-4-3=6




(x+2y—2z)(x+ 2y + 4z) — 722

@© (x+2y-52)(x+2y+3z) @ (x-2y+5z)(x—2y-32)
@(x+2y+5z)(x+2y—3z) @ (x+3y+5z)(x+2y-32)

® (x+22)(x —22)(x* + 3)

B

x+2y=Az ot

(x+ 2y — 27)(x + 2y + 4z) — 722

= (A-2z7)(A+42) - 72°

= A% + 2471522 = (A - 32)(A + 52)
= (x+2y+52)(x + 2y — 32)




x% —dxy + 4y* + 2x — 4y — 15 & Q15EolistH?

@ (x=2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x-2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

@ (x-27-3)(x-2+5)

~&B

(x* —dxy +4y*) + 2x -4y - 15
=(x-2)2+2(x-2y)-15
=A2424-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)




7. x®44(a+b)x+3a® + 6ab+ 3b? & A5-E-ol5tH?

® (x+a+b)(x—a->b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+3b) @ (x+a+b)(x+ 3a+2b)
@) (x+a+b)(x+ 3a+3b)

x? +4(a + b)x + 3a® + 6ab + 3b*
=x?+4(a+ b)x+ 3(a + b)*
=(x+a+b)(x+ 3a+ 3b)




8.

3_|_ \/37 2\/3—1, 1"‘ \/57 ‘/3_2’ 6_\/5

@3+ 3 @ 2V3-1
® V3-2 ©6-+3

~&B

® 1+ V2

© Vi< V3< Vi

34+ Vi<3+ V3<3+ V4
5 4<34+V3<5
@2V3-1=+12-1
V9 < Vi2 < V16
V9-1<Vi2-1< V16-1
L2<V12-1<3

® VI<V2< V4
1+VI<l+V2<1+ V4
L2<1+4V2<3

@ V3-2=V3-Vi<0

wrolBE AL A& .

®-Vi<-V3<-+1
6-Vi<6-V3<6- 1
L 4<6-V3<5

O @S v sl BH

L3+ V3>6- V3

3+ V3-(6-V3)=2V3-3=VI2-V9>0




9. V(3-2V2)- /(2V2-3) & 4] 3
D 6-4v2 @ -4v2
@)o ® -6+4v2

B

3>2420]822

VB-2v2)2 - /(2v2-3)?
=13-2v2[-12v2-3|
=3-2V2+2V2-3

=0
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11.

x, y 7k frEad

. 2 = ol gk Frop?

On @ 2 ® 3 @ 4

, x(2-2V2)+y(34+2V2) ] Zkol

#e%57} grka

® 5

(Fo1A Al) = 2x - 2x V2 + 3y + 2y V2
= (2x+3y) + (=2x +2y) V2

o] Alo] {247} =7 flfiA+=
—2x+2y=0 (x, y'C‘ITE]'T‘) o] Eojof gttt




12.

HO| Aol7} 2+t xem , yem 9 FAMZEE RoFol A 7}
glek. o] & 7h=9] E49] Aol 9] 27} 24em o] 2 Hel )
0Ocm? & o, F 7FE9] E2)¢] Ao]9] -2 FoH?

® 6cm @ 25cm ® 50cm

@®)100 cm ® 150cm

dx —4y =240|B2 x—y=6

x* —y? = 150°| B2 (x +y)(x ~y) = 150
x+y=25

SoA4x +4y =100




13.

7 < V10x2 <12
49 < 10x% < 144
49 < x? <144
=9

Sox =3




